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answer-book (40 pages) issued to them and no supplementary/ 
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Note : Attempt five questions in all. Question No. 1 is compulsory 
carrying 20 marks. After that four more questions are to be 
answered by selecting one question from each unit carrying 

15 marks each.
to : tor Trent fr nrR ftfto Tren tor 1 toto t

to 20 tot nn 11 ?to nrrnn ton ito it

Tren KR, wr sfr Trent nvR f nft to* 15

tot nn 11

9803/4500/777/730/Trans. [P.T.O.

M.Com


Compulsory Question 
(31pHl4 VFT)

1. Write short notes on the following :

(i) Forfeiture.
(ii) Reissue of shares.
(iii) Contingent liabilities.
(iv) Subscribed capital.
(v) Amalgamation.
(vi) Merger.
(vii) Royalty account.
(viii) Subsidiary companies.
(ix) Liquidation.
(x) Dissolution.

PiMfcriflsld TT TtfW feM faf&R :

(i)

(ii) I

(iii) srnifFW

(iv)

(v) UHlArH I

(vi) I

(vii) srfWR Wni

(viii) ehtqfW I

(ix) I

(x)
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UNIT-I 
(iM-I)

A holds 100 shares of Rs. 10 each on which he has paid 
Re. 1 per share as application money. B holds 200 shares of 
Rs. 10 each on which he has paid Re. 1 on application and 
Rs. 2 on allotment. C holds 300 shares of Rs. 10 each and 
has paid Re. 1 on application, Rs. 2 on allotment and Rs. 3 for 
first call.
They all failed to pay their arrears and the second call of 
Rs. 2 per share and the Directors therefore forfeited their 
shares. The shares of C were then reissued at Rs. 7 per share 
as fully paid-up. Give the necessary journal entries to record 
above transactions.
A RIR I>. 10 100 $ fSTH TR

<lRfl f 1 JlRl f^RTT I B MH 1?. 10

200 ?RR t f^RT TR TRt 3H^T Tt T. 1 W 

3JITO VI T 2 3^1 faRTT I C TO 10 TO?; 300 

VRR t TOt TR T. 1, 3TTTO 71 T 2 WT 

T. 3 3TSJ fTOT I

$ 3THT WRIT ?. 2 7^ ^FRT

3 ■faw it 3fk ^fdU. A^I+7 t 3^ 7RT 7W 77 I 

tort c tr ?Rr to to f 7 qft ?Rr -qi 

^T; JWrT fat Tit I ffaft TO1 t? fa^

Tjpfcf f aww qfafW i
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3. What is a debenture and its redemption? Describe the various 

methods for redemption of debentures. Give illustrations.

UNIT-II 
(FFlf-II)

4. Explain the provision of companies act regarding payment of 

managerial remuneration to different categories of managerial 

personnel.

$7 ^FTH T1 3TfafTR $7 ^71 ^Pfa

5. The life fund of a Life Assurance Company was Rs. 86,48,000 

on 1st December 2020. The interim bonus paid during the 

intervaluation period was Rs. 1,48,000. The periodical actuarial 

valuation was Rs. 8,50,000. The directors of the company 

proposed to carry forward Rs. 9,31,000 and to divide the 

balance between the shareholders and the policyholders in the 

ration 1:10. Show :

(i) The valuation Balance Sheet;

(ii) The net profit for the valuation period; and

(iii) The distribution of surplus.
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1 2020 fatft ^sffar *ffar fafa

?. 86,48,000 «ftl SFrPfyWH 3Jeffa $> 3^xT SFffaf 

^Fm ^. 1,48,000 «n i an^ff 830,000

«IT I $■ Reichl* •?. 931,000 adfaf 3fk 

Tfawfaf w mTMw+T -r«t 1 :io $> aiyrnr 

$ farfTO ^T WTO fa^T I TTOftfa ^ftfaTT :

(i) ^*’1 ^FT-^;

(ii) *i<r4=H 3^T teT FTTH; W

(iii) 3lfa$Ti ^T foRUTI

UNIT-III
(^Flf-III)

6. Explain the various methods for calculation of purchase 

consideration with regard to amalgamation of companies.

chUlRiTl’ TPJFlcH 3 SrfaW WTT

fafeRf ^>1 =blP>1i< I

7. Explain using hypothetical example how amalgamation is 

different from reconstruction of companies.

chieiPd* 4<ig<ui T^frn fa ^rfaff

TFnfaH Tfa JFfe? $ fan TOR fa^T 11
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UNIT-IV 
(wf-iv)

8. Explain the following with suitable examples :

(i) Minority Interest.

(ii) Cross-holdings.

(i) f^TT I

(ii) ^rfr snfani

9. What is a royalty account? Prepare a royalty account using 

hypothetical example.

srfWc ^7 wn w t? wnfro w httPi 
^R^ 1R $rfWR WT ^1R =hlRu< I
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